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B General Review on Unit 5 Term 2 % o
1 f 5 dx i 1t tﬁ;
) 1522 X 18 equal to
A. 5In(1+x?*)+c B. S5tan'x+c
L. Stan lx° D. ;ln(l +x3)+c
2) J xvV4—x%dx isequal to
_.2\3/2 _.2\3/2
Ao L B, .U .
3 3
. _x2=x" D 4 — 1224
8
5 [[x]] e[[x]]
3)  The value of integral j ——dx 1s equal to
-
Note: [x] represent the
A. 10(e - 1) B. 5(e—1) greatest value of x
C. 10(1—e) D. 10(e +1)
‘x —4
4) j — dx Is equal to
i X
A2 B. In2+472
C. In2-2 D. In2
5) J Xl Tsequalt
x Isequalto
g X°+2x+3 ?
A. In 2 B. =112
In2 1—-In2
C = D. =
@ Qe e @“'.'.%l.i(};g(g;z1¥12-;;’}: y
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:‘," 6):. The average value of vx overtheinterval 0 < x < 2 is |
A Z B. »
e 3 2
| c. 22 p. X2
3 3
X
7)" Suppose g’'(x) <Oforallx >0and F(x) = j tg'(t)dt  Which
0

of the following statement is FALSE?

A. F takes on negative values

C. F is continuous forall x > 0
E. F is an increasing function.

PO =x800 - [ g@de
0
F'(x) exists forall x > 0

g) If %z cos 2x ,then y =

A. —%c052x+c

C. %sian +c

1 .
—Es1n2x+c

iy .
1 Es1n22x+c

9) Which of the following is equal to In 4
A. In3+1In1 B. In8+1In2
4 41 4
C. f etdt D. J —dt E. j Intdt
i 1 t 1
1 o
10) If f e dx =k then J e ™ dx =
-1 -1
1 1
A. Ek B. Ek
C. -k D. -2k E. 2k

1) 1f y = 10*"~1  then Z—z =

A, 10*"71 (2x)1n 10
C. 10*-1(x2-1) D.

10**-1 In10 E.

B. 10**1 (2x)
10*°~1 (x2)In 10

8.4
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BN 12) . (2x2 -1 5
i o) X = g}:?
(J: i ¥+ 1 ;)
1’ A l B = ™
2
i 1 D. 2 E. In3
13) If 2
f (x” +k) dx =16 then k =
—2
A. 12 B. —12
C. 0 D. 4 E. —4
14y £
f € — 1] g% =
0
3 5
A. : B. 5
C. 0 D. 2 E. 6
15) ftaan iy =
A. —2lIn|cos2x|+ ¢ B. —%lnlcostI +c
C. —2In|cos2x|+c D. %lnlcostI +c
E. —%sec2 2x + ¢
16) (%
J sin3x dx =
0
2 2
A. TG B. 5
C. -2 D. 2 E. 0
3
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1“;) .- L(Z:t. f be a continuous function on the closed interval [0, 2] Q:g
' if 2 < f(x) < 4 ,then the greatest possible value of j Flx) dx—= A;)
A. O B. 2
C. 4 D. 8

18) The average value of f(x) = x>Vx3 + 1 on the closed interval [0,2] is

A 2 B. =
9 3
C..=. D. 13
19) d’ ( 1 )]
—N _
dx i 1—x
1 1
A. — B. —
C. x—1 D. 1—-x
21) [P +8dx .
lim 2 IS
h—-0 h
A. 0 B. 1
C. 3 D. 2V2

21) An antiderivative of f(x) = e**¢" is

ex+ex x
A. B. (1 + ex) pX+e
1+ e*
C. eex D. ex+ex

~

».7

X\ 2
22) If the substitution u = % 1s made, the integral f *1- (7) d

X =
41— a2 o
A j du B. ] du
1 u 2 u
29 — gy? Y1 —u?
C. d D. d _w;"k':)'
L u ,L 2u v ¥
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:,5{;' 23) A particle with velocity at any time t'given by v(t) = e movesina |
straight line. How far does the particle move from t = 0 to t = 2?
' A. e2—1 B. e—1
C. 2e D. e?
24) The graph of y = — x—iz 1s concave downward for all values of x
such that
A. x<0 B. x<2
Ce X > 2 D. x>0
25) xdx
v3x2 45
1 1
A. - (3x2+5)+c  B. = (3x2+5)0+c
1 3 3 s
C. -Bx*+5z+c D -(Q@Bx*+5)2+c
26) 3 cos @ 16 =
o V1+sinf
A. —2(v2Z-1) B. 22
C. 2(WV2-1) D. 2(v2+1)
27) Ifthe function f has a continuous derivative on [0, c] ,
c
then j fx)dx =
0
A. f(e)—f(0) B. [f(c) = f(0)I
| C. f"(c)-f"(0) D. f(x)+c
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2\ *1 Y 832
% |28) Forallx >1,if f(x) :j n dt "Then f(x) = o=
f ;”. 1 _,L ')
A. 1 B. Inx
C. = D. e*
X
1 %1
29) Forx >0, f —f — dt | dx
) S
1
A =+t B. In(lnx) +c¢
2 2
(“’2") +c p. 2w
10 3 3
30) If f(x)dx =4 and f(x)dx =7 then f f(x)dx
1 10 1
A. =3 B. 0
C.'3 D. 11
If three equal subdivisions of [—4, 2] are used, Ze™™
31) : : s —dx?
what is the trapezoidal approximation of g 2

A. %(84 +2e*+2e°+e7?) B. e*+2e?+2e%+e?
C. %(e4+ez+eo+e‘2) D. e*+e?+e°

32)%1_%"[\/_ f+ +\/_]
J—dx B. J:\/de

J xvx dx D. folxdx
1

b
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33) If f(x) dx = , what is the value of j fb—x)dx?
|
A 6 B. —6
C. -1 D. 3

The acceleration of a particle moving along the x-axis at time t is given
34) by a(t) = 6t? — 2 . Ifthe velocity is 25 when t = 3 and the position
is 10 when t = 1, then the position x(t) =

A. 9t +1 B. t3—t2+4t+6
C. 3t?-2t+4 D. t3—t>4+9t—20

€ i
o 87
y Do R

7;, 4

If f and g are continuous functions, and if f(x) > 0 for all real
numbers x , which of the following must be true?

I. Lbf(x) g(x)dx = (jabf(x) dx) <ng(x) dx)

b b b
I1. j (f(x) + g(x)) dx = j f(x)dx + f g(x)dx

b b
I J,/f(x)dxz U f(x) dx

A. "Tonly B. 'IT'only
C. I only D. II and III only
E. [, ITandIII

35)

500 500
36) j (13% — 11%) dx + j (117 = 13%) dx
L

2

A. 14.946 B. 34.415
C. 46.000 D. 136.364

a4 G dg ™ 4
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37) d cos(27w) du is
A. % sin x B. cos2mx
C. % CoS 21X D. 2mcos2mx

38) Ifp is a polynomial of degree n, n > 0, what is the degree of the

X

polynomial Q(x) = j p(t) dt ?
0

A. n—1 B. n
C. n+1 D. n-2

A particle moves along the x-axis so that at any time ¢ > 0 the
acceleration of the particle is a(t) = e™2t. Ifatt = 0 the velocity of

39 oo : . : . :
) the particle 1s % and its position is % , then its position at any time
t>01s x(t) =
1 -2t 1 _o¢ 15
A, -e " +4 B. —e”™*"+3t+—
4 2 4

C. ze % +3t+4 D. 4e7% +2t+-

x2-3x

40) Let  fi(x) = j et” dt atwhat value of x is f(x) a minimum?
-2

A.
C

N N
w NMlw

B
D.

41) If f 1is continuous on the interval, [a, b] then there exists ¢ such that

b
a<c<b and Jf(x)dx:

A TS B. (b-a)f'()

C. f(b)—f(b) D. (b—a)f(c)

B A
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| 42) It jf&ﬁ&za+2bt%n~fUUQ+KMx:

A. a+2b+5 B. 5b—5a
C. 7b—4a D. 7b —5a

v

3 By
Y

o

tan X
43) J” is

1—sinZx
e+1 B. e—1
C. e D. 1

44) The average value of cosx on the interval [—3,5] 1is

sin5 —sin3 sin5 + sin 3

A, — B. ——
8 8

sin5 —sin3 sin5 + sin 3

c. =—— p, doten?

. i 1 2 30 50 1Y) . .
45) The expression = < \/% + \/% + \/% A o \/;) 1s a Riemann sum

approximation for:

L Ix i Remember
A. J \/%dx B. %j \/de b n
J = | Ferdx ="y pex ax
C. j Vax dx D. Vax dx =1
0 0

o
ﬁ.‘- #

Flegl 5y
"

,,"

46) The graph of f is shown in the right v
figure. If F'(x) = f(x) and t

3
jf(x)dx=2.3 then F(3) — F(0) =, 3t-==t===t===t=m=g=m
! S T R
I | |

i
2' ' -_——TT-T-TreUTTTrTe—-
:
R G
A. 43 B. 33 N N S T
C. 0.3 D. 1.3 o 1 2 3 4
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(%27) Attime t = 0, the acceleration of a particle moving on the x-axis is 1
Ay a(t) =t +sint at t = 0, the velocity of the particle is —2. 2

S

L ¥

1]
3 By '{
Yoy~ 4

[

A For what value t will the velocity of the particle be zero?

A. 1.02 B. 148

C. 185 D. 3.14

48)

L

Let f(x) = f xh(t) dt , where

a

h has the graph shown on the ral
right. Which of the following
could be the graph of f ? 0 h ; B

[+

R

a

49) x | 0(05(1.0/15]20
f(x)|3]|3|5]| 8|13
A table of values for a continuous function f 1s shown above. If four
equal subintervals of [0, 2] are used, which of the following is the

2
trapezoidal approximation of f f(x)dx
0

A. 8 B. 12 C. 16 D. 24

Y~

-
t
N

s
$ Ny

Flegl 5y
D
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el
v

AR ONILALE
R a4 BEE OMES +201003261312 5 F
b ? “€“¢ Page 10 of 38 Unit 5 Review — Term 2 — Academic year 2023/2024 i ©‘ T Vo,

V.S,
Bry
~

A~
@
o]




u-‘;
g ¢
L \
e /

A

N A. -2 B. —2 and 2
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50) ‘Which of the following are antiderivative of f(x) = sinxcosx?

L Fx) =S%%  IL F(x) = C"Z i M. F(x) =%
A. Tonly B. Il only
C. I only D. Tand III only

E. I and IIT only

51) The graph of f(x) 1s shown in
the right figure.

It 8 = | fF@de  for what TN

value of x does g(x) have a
maximum? \

~

T
=

N

It cannot be determined from the
(. ¢ D. d " information given.

A
Q
S
<
=¥
\ 4
-

52) Let g be a continuously differentiable function with g(1) = 6 and

J; g(t)at
'"(1) = 9
g'(1) = 3. What is chl_r)r% e

a
SR
&

B A

4
7({‘ .

A. 0O B. E. The limit does not exist.

1
1
Rt D. -

2

53) If f is the antiderivative of 1ix5 such that (1) = 0, then f(4) =

A. -0.012 B. 0.376

C. .. 0.016 D. 0.629

k
54) What are all values of k for which j o =]
2
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% “1 55) The graph of f is shown in the y e
S right figure. T
€A e

Which of the following could be - 5—3’ x '

the graph of the derivative of f ? / l \
Y y

A. /\1\ « B. W .

a l \_/b_) “a l b

y y
l's A

C. <« ? /\-—> X D < c\ / -—> X

N0 © N\ *
56 X t2
) - J; et dx <
x>1 x? —1
A. 0 B. 1
e
C 2 e
57) The function f(x) is continuous on the closed interval [0, 6] and has
values that are given in the table below.
x 0 Y ¢ 1

£(x) : Kk A X

If three equal subintervals of [0, 6] are used, if | 06 f(x) dx by

using the trapezoidal method = 52. Find the value of k

A. 6 B. 10

C. 7 D. 14

: ¢ T

B A ARIA
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% “1 58) . The graph of a piecewise-linear function f for —1 < x < 4, is show
" on the right. What is the value of f_41 Filx)dxs T
A. 25
B. 4
> X
£ 9.5
D. 8 v
59) If f isacontinuous function and if F'(x) = f(x) for all real
numbers x, then [ 13 f(2x)dx =0
A. 2F(6) —2F(2) B. -F(6)—F(2)
C. F(6)—F(2) D. -F(3)—:F(1)
60) Calculate the approximate area of the
shaded region in the figure by the
trapezoidal rule, using divisions
4 5
at x =—-and x ==
3 3
A2 B. =
27 108
7 127 77
C. ? D. g E. ;
61) t (sec) 02|46
a(t) (ft/sec®) | 5|12 |8] 3
The data for the acceleration a(t) of a car from 0 to 6 seconds are
given in the table above. If the velocity at t = 0 1s 11 feet per
second, the approximate value of the velocity at t = 6 , computed
using a left-hand Riemann sum with three subintervals of equal
length, 1s
& A. 26ft/sec B. 41 ft/sec C. 30 ft/sec D. 37 fi/sec
@ g o8t S Looronsteriz &
5= Page 13 of 38 Unit 5 Review — Term 2 — Academic year 2023 /2024 gﬁ @‘ -

B ok ¢

0 T 4

122 F
SRS B W



L
==

® R W AD)
@zp o8 : -
“.162) If fi(x) = g(x) + 7 for 3 <'x <'5then f [F(x) + g(x)]dx'=
3

- ;l,‘ .
1“. t‘o

Q

\

A. f g(x)dx+7 D. fsg(x)dx+7
3

5 5
B. Zf g(x)dx + 14 E. f g(x)dx + 14
3 3

5
Zf g(x)dx + 28
3

b
63) If f isa linear functionand 0 < a < b, then f f'(x) dx =

A. 0 D. 1

ab b% — a?

B. — Eo
2 2
Co b —a

64) iy %zsinxcoszx andifyszhenxz%,

what the value of y when x = 0

1 1
A. 3 D. —3

B. 0 E. 1
e —1

,..,,
N = Y
y Do R

7;, 4

A. 0.048 D. 0.144
B. 5.827 E. 23.308
C. 1640.250

65) Let F (x) be an antiderivative of (lnxx)3- If F(1) =0, then F(9) = ---

X

1 . .
66) If . f(x)= JO mdt Which of the following is FALSE?

, 1
A. f(0)=0 D. f'(1) = =
B. f(1)>0 E. f is continuous at for all x > 0

C. f(-1)>0

o4 " G dg ™ A
»"
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“167) . If F.and f are continuous functions such that F'(x) = f(x) forall x, |

b
then f f(x)dx is

A. F'(a) —F'(b) D. F(a) —F(b)
B. F(b) — F(a) E. none of the above
Q24F8(p) — F'(a)

Al
68) f (x + 1)eX*+2% dx =
0

e3 e3-1
A. = D. -
B. e2-¢ E. e2-1
e3—e
C. -

x+1, x <0
COS TTX , & =10

69) Given f(x)= { Then f f(x) dx

V.
20y
v

o -2

Aubdallen 4 2 D. --=
B. - E. —-
C —-+m
2
70) f xl dx is
-1
A. -3 D. 1
B. 2 E. non-existent
C. 3

: e . K 1
71) If n is a known positive integer, for what value of k is: f x"hdx = —
1

A. 0 D. ox

1 1
B e By
C. 2n

a
SR
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72) If f f(x—c¢) dx =5 Where c is a constant, then ) ax =

2l
ok
- » ’k

)

s

~

A. 5+c¢ fl’
5
5—c
E—5
—5

SIS -

tan x 1

73] Bor. Fle) = x4 f

& —
0 1+t2dt then f'(x) =

1
1+ tan?x

A. 2 D. 1+

B. 1+4sec?x E. 0

C. 1+ sec? x

1+ tanx

74) If f 1is the continuous, strictly increasing
function on the interval a < x < b as shown
on the right, which of the following must be
true?

b
I. J-f(x)dx<f(b)(b—a)

.
>

M

b
II. ff(x)dx>f(a)(b—a)

L

b
I11. f f(x)dx = f(c)(b—a) Forsome numbers c suchthata <c <b

A. Tonly D. IandII only
B. Il only E. I, ITand III
C. IIonly

Y~
f o,

-
\r‘ ]

’VJ" L -
2

i g«;
e 3
2E

Leeyeyy
g A ®W' ®+201003261312 3
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% sinx &
2% 75 If f(x) = J cost3dt ,then f'(x) is equal to L
2

x 'i..;e.
cos(sin3 x) cos x — 2 cos 8x3 ’
sin(sin3 x) sin x — 2 sin 8x3
cos(cos® x) cosx — 2 cos x3

=0 R P

cos(sin3 x) cos x — cos 8x3

76) Let f be a differentiable function for all real numbers x, and

y 1792t de
mm-——-mF-

x-1 bx'=1

f (1) = 4 then the value of Iff'(1)=2is

A. 16
B 8
C.
D

77) fZ sin® % dx =

B. Zx—%c052x+c

C. Zx—%c052x+c

D. x—%c052x+c

2
sec“x
e

78)

2
etan X

EX &

e*+c

A. x+c
B
C
D

e-tc

¢ %
S

{f‘{?f.

ORI DALI
R a4 BEE OBEC +201003261312 25 F
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on
X

tJ.{ o

after a collision as given in the table. Estimate the position of the

particleatt = 8

x | 5 10] 15
fx)| 8 |14 18

A. 112

B. 116

C. 16.2

D. 13.1

ONEE ar A0l
;’,';""@‘. B
“79) A sensor measures the position f (t) of a particle t microseconds

2
80) . Letg be the function given by, g(x) = f f(t)dt The graph of the
-2

function f(x), shown on the right, consists of
five lines segment, which of the following
intervals the function g(x) is decreasing

A. (=2,4)
B....(3,7)
C. (498)
D. (3,4)

Graph of f(x)

2 P

~y
sy b,
33 "

8.4

831n2x 33 5821n2x

e4lnx B 5631nx e 7ezlnx dx

81)

8ln|x? +5x— 7|+ ¢
4In|x? +5x—7| +¢
81ln|x? + 10x — 7| + ¢

S0 F B —

Aln|x?* +10x—7| +¢c

52) J(x—l)x(x+1)dx
A. In|x?—-1|+c
B. 2ln|x?-1|+c
C. Inlx—1|—xIn|lx+ 1|+ ¢
D. Injlx—-1|+c¢

¥ u}gl T
oE Page 18 of 38 Unit 5 Review — Term 2 — Academic year 2023/2024 SXsfa 3
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83) fcotx dx

A. In|sinx| + ¢
—In|cos x| + ¢

tmcscZx + ¢

S 0w

In|secx|+c

X
V1—x2
—V1—-xZ+c
—VI—-x%+c

1-x2+c
%(1—x)3/2+c

84) dx

S 0 R Pt

ex

e?* +1
Inle?* + 1| + ¢

85) dx

tan"1(e¥) + ¢

tan"1(e?*) + ¢

S 0-F

Inle* + 1] + ¢

86)

x+cosx +c
X —sinx +c

1+sinx+c

-
L™
-

’

\ !

..r
s

o

]
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9
3
0]

13 + 4x
4+ 1

1 4 -1

Zln|x + 1|+ 2tan"" 2x +

2 | 87 dx

7 opls thavl o
."g{

on
X

tJ.{ o

In|x*+ 1]+ 2tan"12x + ¢

%ln |x*+ 1| —2tan"12x + ¢

S N W ?%G?'-

4In|x*+ 1|+ 2tan 1 2x + ¢

Find the function f(x) satisfying the given conditions:
f(x) = 12x?% + 2e* fH0)y= 2, Fily= 3

AR 1 2e* + 1

88)

—2e*+1
x* 4 2045

T 0 R

8x* + 6e* 4+ 1

89) y = f(x), the slope of the tangent line at (1,2) is 3
and F (1 =7—1

Find a function f(x) such that the point (1,2) is on the graph of

Y~

¢ ? 55 Page 20 of 38 Unit 5 Review — Term 2 — Academic year 2023 /2024 gﬁ
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| A

i 1 7 7
Ao x®——x? tox— -
2 6
1.5 7 7
B. + = x +2x+6
C. x3——x2+—x—7
2 2
D. x3—x%4x-7
90) fex2+lnx dx
A. e* +¢
B. 2% +¢
1
C. E€x2+C
i 1
&:; D. EXZ-I‘C
@, g w1 10 W

@ +201003261312) 3 ¥
a o AC




s '

s
o o
b

91) zz(ﬂ-3r+2)

o
X

\ ;9 o
L v
A
o~
Il
=

A. 323000
B. 323400
C.1:300400
D. 323200

a
SR
&

B A

Yog 1
N

B.
C. 500
D. 5000

o m(336+2)

X

1.01.1

1:2

1.3

1.4

1.3

1.6

| B

1.8

f )

18|14

1.1

0.7

1.2

1.4

1.8

2.4

2.6

50
59
59
50
63
50
50
63

T 0 F 2

93) Use the given function'values to estimate the area under the
curve of f(x) using left-endpoint evaluation.

94)

A.

wlN
Gl

il Gl

g

~

S 0w

tr

If f(x) =3x°
Integral Mean Value Theorem on the interval [0, 2]

Find a value of c that satisfies the conclusion of the

Lt ed " Sihg A
A
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! onle 2o o.
4 1 p):
2% |95) The value of f 3x%y 1+ x?dx Isbetween c:
Ao 0 5N
s 3 0<x<1 ¢ g
i A EandZ 0<x?<1
B 1<1+4x%2<2
0and 3 1<V1+x2<V2
C. land V2 3x2% < 3x%/1+x2 < 3vV2 2
! 4 g e 2 ; 4
D Eand5 f03x defOSx 1isk% deIOS\/Ex dx
Or: m(b—a) < fol 3x%V1+x2dx < M(b—a) x3|é < f 3x2\1+x2dx < \/§x3|é
1 0
o(1=0)= [;3x*VI+xTdx <3v2(1=0) 1
0Sf013x2mdxs3\/§ 1SJ03x2\/1+x2de\/§
X
96) If f(x)= j (t* — 3t +2) dt Which of the following is true?
0
A. f has local maximum at x = 2 and local minimum at x = 1
B. f haslocal maximum at x = 1 and local minimum at x = 2
C. f hasno local maximum and local minimum at x = 2
D.  f has no local minimum and maximum local at x = 1
X
97) If j f(®)dt =x(Inx —1) What is the value of f(e?)?
0
A. 2—In2
B.dIn 2
C. e?
D. 2
sin x -
98) If f(x)zj Vv1—t2dt Where 0 < x < then Pl =
COS X
A. 2sinx
B. sin’x
’ C. sin*x —cos®x
&Y, D. 1 R
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be Too " AMEEE o e+
:‘,’" By using the table in the OGRS *;,?
A right Find h'(2) if 0 > 1 0 | =2 s
% | 80:) 1| 5] -8] 5| 1 g
h(x) = fe)dt 2 | 15 | -1 ] 1 | 3
2

A. =5

B. 3

C. —15

D. 15

100) The area between y = sinx and the x-axis for % <x< % is

S O = »
S els g vl

101) The area above the x-axis and below y = 4x — x*?

. W

A =2
3
B. =
3
c. =2
9
16
D. =
V1 —2tanx
102) f 0 =
cos? x
3
A. —%(1 —2tanx)z +c¢
3
B. %(1—2tanx)5+c
3
| C. —3(1-2tanx)z+c
Ky e ’
e D. —%(1 —2tanx)z + ¢ Ko

T -
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ﬁ.‘- #

Flegl 5y
"

,"

V.
20y
v

o -2

ONEE EagE
£ Ot T o 2
) f — A
103) " | “=—=—=dx = -
Vi+vx
3 A\
A 21+ V) —4/1+Vx+c
3
B. Z(1+vx) —2V1+vx+c
3
C (1+vx) —a/1+vx+c
3
D. 2(1+Vx) +4/1+Vx+c
1 5
104) (1+ sinx) T
SEC.X
A. 6(1+sinx)®+c¢
B. %(1 +sinx)® + ¢
C. %cos6 x+c
D. +-sinx+c
6 6
2 4
105) If f f(x) dx =4  Then f f(\/f) iE =
1 1 Vx
A. 4
B. 6
C. 8
D. 10
Use the graph to estimate shaded area
106) ( foz f(x)dx ) by using Simpson’s -
Rule withn = 4 . p \\
77
A. ? 6 / \
B 3 )
y A
s 77 B A
b S S I &

]
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ONEE G A

on
K 4

tJ.{

2 Sl S
" i ] -
1 g{)

, ; %étermine the number of steps that will guarantee an accura:y of ét? ° ok
2| 107) 1077 for using each of Simpson’s Rule to approximate f —dx :;
A. 135 |
B. 136
Geodall37
D. 134

Determine the number of steps that will guarantee an accuracy of at

108) least 10~7 for using each of Trapezoidal Rule to approximate f — dx
A. 6708
B. 6709
.. 135
D. 136

Use Trapezoidal Rule to estimate [ 02 f(x) dx from the given data:

109) x [0.0]050(1.00]1.50{2.00
f(x)|4.0[52 |50 |44 [4.0

31
A, —
5
93
B."'—=
10
93
s —
186
D. —

~

.y

110) Use Simpson’s Rule withn = 4 to estimate In 5

73
A =
B B

30
c. 3
D

2
73

b
%
Ko

1.5

X o o v dg' ® 2
»"

,r‘

LR A AN LA L=
L aa ORes O o ®+201003261312 >
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o -o’ ‘l"k,‘ ﬁ m i3 \ -»A-’!:." \°
2110 ] xe* &
#, ———dx = P
2% (1 +x)? s
eX
A. +c
1+x
eX

(1+x)2

e*In|1+ x|+

+c

X

S 2 %

e
2(1 + x)

4=

112) 1 dx = kcos4x +c thenk =

=

f 1+ cos4dx
cotx —tanx

d3ud[[eyYD
S 0 F 2

ol BlIP VR &R

113) 1

=

dx =In|x*+4*|+ ¢ thena=

4x3 + a 4*
f 4% + 5=
In 4
log, e
il
4

SANSER 'S

dx = a+cotx +c¢ thena =

Vvcot
114) IfJ kil

sin x cos x

SO F 2
—

Y~

A
t
N

Flegl 5y
D

,"v

P
$ Ny

B
T WY
~

5!‘{]‘:
O AR AL
Y B4E OBHS +201003261312 > ¥
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A. 107 4 x10 X
B. 10%¥ —x1°
C. log,(10* + x19)
D. forysm

X 1
116) If jf(t)dt=x+j t f(t)dt ,then f(1) =
0 X

A, =
2
B. 0
C. 1
D. -2
2
(L .
117) jscosx+smx o
o V1+4sin2x
A, =
* 3
B. =Z
3
@bdatf
3
D. =

1
118) If f(x)=3{-1, x=0 ° f fx) dx =
X —1

then
, >0
5
A. -
6
2
B. -
3
1
C. —-
6
D. nonexistent
(‘ ’t :';IL.:j
) &y
G . XA ARID AL~
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ONEE G A
\

%5 Oéa 5] e v L
B 119) The graph of g’ , the first derivative y Vg
A5 of the function g, consists of a i\ S
A semicircle of radius 2 and two line /:‘ \/\ Ly
1 segments, as shown in the right F
figure. If g(0) = 1, what is the D T
value of g(3)? vy
A, o+ 1 C. 2n+1
B. m4+2 D. 2n+2

120) Let g be a twice differentiable, increasing function of ¢ .If g(0) = 20

and g(10) = 220 ,which of the following must be true on the interval
0<t<10?

A. " g'(t) = 0 for some t in the interval.
g’(t) = 20 for some t in the interval.

B
C. g'(t) =0 for some t in the interval.
D

g''(t) = 0 for some t in the interval.

3

X
il
121) If F > 1th (2=
) fl 1+lntdt or X en f'(2)

1 1
C.
1+ In2 1+ In8
12 12
D.
1+ 1In2 1+ In8

5
122) Which of the following limits is equal to J x¥dx?
3
A >3+
- lﬁ‘oz +2) G)
B. lim
n—)OOZl

g

sy b,
"

-
N e

~

¥
LG AR AL
RE DRem © o ®+201003261312 5y
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OXEe QF A0
. ;, ;, § @‘ - 5] o ©
A d " 5
P12 1 — ( [IRLGESY dt) = e
S dx\Je T
A In(xS+1) :
B. 2x?In(x®+1)
Co2x%In(x? + 1)
D. In(x®+1)— In(e®+1)
124 f a d 1
: L _ 5 3 .
) Using the substitution u = 1 4 x then T 1s equivalent to
J w4+ 1 du
_1
B. j u 2 du
i 1
C. J (uZ — U 2) du
_1
(u—1) f u 2 du
125) X2 — 4
lim LS
X2 f cos mt dt
A 0
B. 2
C 4
D. non-existent
&p ;:3

!‘

A

AE

g %;gg,l ®" ®+201003261312 2
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Flegl 5y

o

V.
Bty
v

o -2

ONEE G A

'® 5T -

. .
!
g
- o
3.

The function g is defined on the
closed interval [—4, 8]. The graph
of g consists of two linear pieces
and a semicircle, as shown in the
right figure. Let f be the function
defined by:

a
SR

.".

™

v
3 By
1(, 4

X
=3 t) dt
f(X) o +JO g( ) Graph of g(x)
Find the value of f(7) and f'(7)
A f(N=24-=, f(D=6
B..f(7) =24+ | (D=6
C. fN=24-=", f'(N=9
D. f(N=21-=, f(D=9
127) o f()+7 Use information in question 126
e 1
x—>—2e3%Xt6 — 1
A, =
3
B. o
& —
3
Pbdalia 2
3
X 0 1 £ 3 4 5 6
f(x) 0 10251048068 |0.84|0.95 1
128)

For the function whose value are given in the table above, [ 06 f(x)dx

is approximated by a Riemann sum using the value at the midpoint of
each of three intervals of width 2. The approximation is

A. 2.64
B. 3.64
€. 3.76
D.24.64
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e G517 =) e ‘_,,‘._, o ’
E@ 129) The graph of y = f(x) is shown ' g
S in the right figure. If A; and A, are RS
A positive numbers that represent the e
i areas of the shaded regions, then in '
terms of A; and 4,,
4 4
f f(x)dx — Zf f(x)dx =
~4 -1
A. Al - Az B. Al + Az
C. A —34, D. A; + 24,
b b . .
. ~ 1 Which of the following
130) If L f(x)dx =5 and ja g(x)dx =—1 must be true?
I. f(x)>gx)fora<x<bh
b
I1. J (f(x) + g(x)) dx =4
b
II1. j (f(x) g(x))dx = =5
A. Tonly B. Il only
C. I only D. II and III only
E. I IandIII
131) Find the area under the curve f(x) = 3x2 on [0,1] , n = 4 using
Simpson’s rule
A. 0.8
B. 1
C. 6
D. 12
tgi ;‘%
o3 RE

AE

o A CAARIAAL "*
A ., 1;@3,1 O ®+201003261312
. & & v Page 31 of 38 Unit 5 Review — Term 2 — Academic year 2023 /2024 gﬁ 5




ONEE G A

B 4 Al }
‘::.,- 17 0]

132) If G(x) is an antiderivative for f(x) and G(2) = —7 then G(4) =

A fl(4) -7
B. L 4(f(x)—7) dt
C. —7+f:f(x)dt
D. f'(4)

o
ﬁ.‘- #

Flegl 5y
"

,"

V.
Bty
v

o -2

8
133) 'The function f is continuous and f f(u) du =6 Whatisthe
0

3
value of J xf(x?—1) dx?
i,

S 0 Fr »
o W vIw

12

Approximate the area under the curve y = x? + 2 fromx = 1 to x =
2 using four midpoint rectangles.

A. 4.333
B. 4.328
C. 4.719
D. 4.344

134)

4 Vx
135) If the substitution u = +/x is made, the integral f erx =
1 X

16 4
A. 2] e du B. ZJ e du
1 i

1 2 2,
C. —f e du D. ZJ e’ du
2 ) 1
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136) The function f is defined by f(x) = {2 1 ’; : g :w

4
u‘

T '~.’ ’

What is the value of f f(x)dx =
1
ADdap B. 8

C. 6 D. 10

12
Let fbe a function such that  g'(x) = f fi2=)dx = 10
6

137)
Which of the following must be true?
24 12
A. f(wWdu=5 L f f(wdu=5
24 12
B. f(w) du = 20 D. f f(w) du = 20
12 6

E. jjf(u) =5

138) If f ax =

b

Al Zf f(x)dx C. cf f(x)dx
b be?

B. f f(x)dx D. f(x)dx

X
139) Let f(x) = f V2 —t?dt ,then the real roots of the equation
1

x?2—f'(x) =0 are
A, *1 C.

1

+ 7
B. i% D. 0, —-1and1

A
Ii‘_

L
/%
S

< o
By

ol
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a
SR

B A

™

v
s By
Vor 1

b
/%
S

OMED G o)
o 3 - o) o
o = 1
=2 | 140 f(zx/Ecosx +—sinx) g2l abdala
v o8 . Vx
L. A. 2Vxcosx+C C. +Vxcosx+C
B. 2Vxsinx+C D. +xsinx+C
n
141) lim 3(c? —3)Ax on the interval [1, 2] equivalent to
—
l 2 2
A. J (3x% — 9)dx C. f (3x?)dx
j i 1
2 2
B. j (3x% — 6)dx D. f (3x% +9)dx
1 1
2
142) Let j f(x)dx =12 ,and the average value of f(x) on the
a
interval [a, 2] is 4. Find the value of a?
A, —1
B 0
D 2
143) If f'(x) =e™ and f(0) =3 then f(x) =
A, 2—e7”*
B. 4—e7*
C. 44+
¥ D. 24+e7*
@, g TN

o -2
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O34 A0 QF A0
"o e o) O o
N d =
® 5 pap = {InxZ +1) = oo i i
T 2x =
“' A. x2 14 iy
B. 2x
X
C. x2+1
ppodalig2 4 1
d X
145) — | V1+t2dt
dx J,
X
A N C. v14x2-5
x 1
2 =
B 1+x D. —
i
2
146) Which of the following gives the bounded of jn 3 cosx? dx
L
A, —1< j;chosxz dx < 0.5
3
T
2
B. —-123< L 3cosx? dx < 0.72
3
L3
2
C. -1.23 SL 3cosx? dx <1
3
T
D. —-123< j: 3cosx? dx <0.5
3
1
147) f VX2 —2x+1 dx = ...
0
_x
A. >
B. —1
1
| C. "
‘t’-::; D° 1 y, 4
"1 v; | e
Y LTy r ey R
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\

£ O iy i 2
B If f(x) 1s continuous on —4 < x < 4 v 7
» 3 and the graph of f(x) consist of five ; 5
&' 148) lines segment as shown in the right /\ /\ fi‘:*’
figure find the average value of — ——+——>=
f(x) on the average on [—4, 4] “ /
1 -2
A. g v
=
B. —
5
C. =
2
D. -
By using Reimann Sum which of the following represent the
149) . o
following integral: j x* dx
3
- iy* 1
A- m;@ +2) %
N Bl
B. %%21(3 S
- 2iy% 1
c. Im>(3+3) 7
i=1
) iyt 2
D. fm) (3+7) 5
i=1
150) J 3e2Inx dx =
A. x3+c
B. 3e**+c
C. i+ ¢
D. Inx3+c
ks"" \':':j

AR ARIAL #s
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S 94-151) x |—4|-3|-2|=-1] 0] 1|2 ]|3]|4 )
, ’3 g(x)| 2130 |-3|-2|-1]0]3 ]2
*“i;"' The derivative g’ of a function g is continuous and lies exactly two zeros. | %
| Selected value of g’ are given in the table above. |
If the domain of g is the set of all real numbers, then g is decreasing on
which of the following intervals?
Allla—2 < x < 2 only
B. —1<x<1only
Co X = —2
D. x =2 only
E. 'x<-—-2only x > 2
10
152) Let f and g be continuous functions such that flx)dx =21
0
10 1 10
,j 5 g(x)dx =8 and (f(x) — gx)dx =2
0 3
3
What is the value of f (f(x) — g(x)) dx
0
A. 3
B. 7
C. 11
D. 15
) aaay Al
1Y 41 Al (Euase aqlll Sl
313) 2ugils Chahid (LT Y)
. 2021/2022
%‘:‘%_ _JLT'?
N L
3 I A LA =

o 45
RS, EiReE OMES +201003261312) %8
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Answers keys

“Xs Q# Answer Q# Answer Q# Answer Q# Answer X
1 B 2 B 3 A 4 C 3
5 C 6 C 7 E 8 C
9 D 10 B 1 A 12 A
13 D 14 B 15 B 16 B
17 D 18 A 19 A 20 C
21 C 22 A 23 A 24 C
23 A 26 C 27 A 28 B
29 C 30 D 31 A E ¢ B
33 A 34 B 35 B 36 A
37 D 38 C 39 C 40 B
41 D 42 C 43 B 44 B
45 G 46 A 47 B 48 6l
49 B 50 D 51 C 52 &
53 B 54 A 55 A 56 A
57 B 58 A 59 B 60 D
61 B 62 B 63 A 64 D
65 B 66 & 67 B 68 D
69 B 70 D 71 D i B
i A 74 E 15 A 76 A
il A 78 G 79 B 80 A
81 A 82 A 83 B 84 A
85 A 86 A 87 A 88 C
89 B 90 A 91 B 92 A
93 C 94 B 95 D 96 D
97 C 98 C 99 A 100 A
101 A 102 B 103 C 104 A
105 B 106 B 107 B 108 A
109 A 110 D 111 B 112 C
113 C 114 A 115 A 116 A
117 B 118 B 119 D 120 D
121 B 122 C 123 C 124 A
125 A 126 O 17 B 128 B
129 B 130 C 131 B 132 B
153 D 134 D 135 B 136 C
137 A 138 B 139 A 140 C
141 A 142 C 143 B 144 B
145 C 146 B 147 D 148 A
149 A 150 A 151 A 152 A
153 154 155 156
V| 157 158 159 160
@ Ly ey
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